|C0mprehension

[MCQ5

feit doipn F iR yME F R Fe s fmsr s w wmwE % 7

(1) iterrowsd )

(27 index( )

) ':.'I.1J1.l[]'I]1!il:_ I
(4)  median{ )
Options :

212807114957. 1
212807114958. 2

212807114959. 3
212807114960. 4

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Economics
5
212807626
60
60
No
No
0
200
No
Cant View
No

Economics
212807732
1
Online
Mandatory
50

2128072097
Yes
null

Question Number : 236 Question Id : 21280728741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Which of the following will be included while estimating Gross Domestic Product at market price
(GDTyp) ?

(A} Profit earned by American express Bank from its Branch in India
(B) Dividends paid to shareholders of firm situated in Kerala

(C) Donations made to a religious institution

(D Salary paid to an Indian working in Japanese Embassy

(E} Purchase of taxi by Travel Services company

Choose the correct answer from the options given below :

(1) (A) (B) and (T} only

(2)  (A) (B) and (D) only

(3 (B) (T} and (D} only

(4)  (A), (B) and (E) enly

Options :

212807114961. 1
212807114962. 2
212807114963. 3
212807114964. 4

Question Number : 236 Question Id : 21280728741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807114961. 1
212807114962.2
212807114963. 3
212807114964. 4

Question Number : 237 Question Id : 21280728742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 I I d .
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Question Key Details :

Key

Value

Comprehension

MCQ

Brundtland Commission relates to

{1} [’-:J'-.'L'ri_'f alleviation
(2} Employment peneration
(3} Rural development

(4} Sustainable development
Options :
212807114965. 1
212807114966. 2
212807114967. 3
212807114968, 4

Question Number : 237 Question Id : 21280728742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

212807114965. 1

212807114966. 2

212807114967. 3
212807114968. 4

Question Number : 238 Question Id : 21280728743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Arrange the following statements relabing to India in the sequence of therr occurence ;
[A) Setting up of National Bank for Agriculture and Ruoral credit

(B) Saansad Adarsh Gram Yopana Scheme introduce by Government

(C) Social banking and mult agency approach adopted to meet raral credit needs
(D} “Kudumbashree’ was started as a small savings bank for poor women in Kerala
Choose the correct answer trom the options given below ;

(1) (A (B). (€), 1Y)

(2) (D0 (€ (B), (A)

(3) (D), (A), (D), (B)

(4) (D) (B) (A) (C)

Options :

212807114969. 1
212807114970. 2
212807114971. 3
212807114972. 4

Question Number : 238 Question Id : 21280728743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (A (B). (C), (D)

(2) (D). (C). (B}, (A)

(3) (), (A). (D), (B)

(4) (D0 (B) (A) (C)

Options :

212807114969. 1
212807114970.2
212807114971. 3
212807114972. 4

Question Number : 239 Question Id : 21280728744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Match List - T with List - 11

List - 1 List - II
(A) Quotas ([} Monetary assistance given by government for
production activities
[ B lm[:l-nrt subsHtuton (I} Government protects domestic industries from
foreign competition
(C) Tariffs (I} Tax on imported goods
(D} Subsidy (IV} Specify the quantity of goods which can be imported

Choose the correct answer from the ophions given below :
(1) (AIV), (B)-II). (C)-(IL), (D)-(T)
(2) (A0 (B} (C-(IV], (D))
(3] (A)-IV), (B)-{II0), (C}-(1), (D)-(10})
() (A1, BRI, (-1, (D)(IV)

Options :

212807114973. 1
212807114974.2
212807114975. 3
212807114976. 4

Question Number : 239 Question Id : 21280728744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (AIVY, (B)-{11). (C)-(IIT), (DX)-{I}
(2) (AT, (BRI), (C)-1V), (D)-(1)
(3)  (AMIV), (B)-(III), (Ch-(I), (EN-(IT)
(4) (AL (BR(OD), (S0, (DHIV)

Options :

212807114973. 1
212807114974.2
212807114975. 3
212807114976. 4

Question Number : 240 Question Id : 21280728745 Question Type : MCQ Option Shuffling : No Is Question Mandatorv : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 I I d -
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Question Key Details :

Key Value
Comprehension MCQ

Identify the programme that the government has adopted to help the elderly people and poor and
destitute women ?

(1) Tradhan Mantri Gram Sadak Yojana

(2) Integmted Child Development Scheme

(3} Nahonal Social Assistance Programme

(4) WValmiki Ambedkar Awas Yojana

Options :

212807114977. 1

212807114978. 2

212807114979. 3
212807114980. 4

Question Number : 240 Question Id : 21280728745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807114977. 1
212807114978.2
212807114979. 3
212807114980. 4

Question Number : 241 Question Id : 21280728746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




Mhatch List - T with List - I1.
List - 1
(A) Ex-anbe saving

(B) Multiplier

(€} Aggregate supply

(D) Mu:gitu:l F‘rL:}'luns:it].-' b COMSume

List - 11

(I Planned output
AY

(L) AL

(OTy Dhrect relabionship with investment mulbplier
(IV) Desired saving

Choose the correct answer from the options given below :

(1) (A)-{LIL, (B, (€)-(IV), (D)-{T)
(2} (A)IV), (B)-HLD, (€D, (D)-(11)
(3} (AHIV), (B, (CHID, (D))
(4)  (A)-II) (B)-(IV). (C)-(D, (D)~(IIT}

Options :

212807114981. 1
212807114982.2
212807114983. 3
212807114984. 4

Question Number : 241 Question Id : 21280728746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (A)-(ITD), (B)-(1N). {C)-(IV). (D)-(T)
(2)  (A)-IV), (B)-(11). (C)-(T). (D)-(TIT)
(3)  (AMIV), (B)-(1), (C)-(ID), (D)-(1IT)
(4)  (A)-{I). (B)-(IV), (C)-(I), (D)-(II)
Options :

212807114981. 1

212807114982.2

212807114983. 3
212807114984. 4

Qcollegedunias

-



Question Number : 242 Question Id : 21280728747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the elasticity (e ) as we move upwards along a linear demand curve.

(&) ey=1
(B) eyq=D
(C) ey=oo
(D) €5
(B) 249

Choose the correct answer from the options given below ;

{1y (B} (E) (A) (D), (C)
(2} (A) (B), (C), (D). (B)
(3) (D) (C) (B). (A). (E)
(4) (B) {C), {A), (D), (E)

Options :

212807114985. 1
212807114986. 2
212807114987. 3
212807114988. 4

Question Number : 242 Question Id : 21280728747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (B (E), (A} (D), (©)
(2) (A (B). (C). (D), (E)
(3 (D) (C) (B), (A). (E)
(4) (B (C). (A} (D), (E)

Options :

212807114985. 1
212807114986. 2
212807114987. 3
212807114988. 4

collegedunia:



Question Number : 243 Question Id : 21280728748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

“Cooperative marketing have received a set back during the recent past”.
Choose the option that is not true for the above statement.

(1)  Dhstribution of food grains and sugar through public distribution system
{2) Inadequate coverage of farmers

{3)  Inefficient financial management

(4) Lack of appropriate link between marketing and processing cooperations

Options :

212807114989. 1
212807114990. 2
212807114991. 3
212807114992. 4

Question Number : 243 Question Id : 21280728748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807114989. 1
212807114990. 2
212807114991. 3
212807114992. 4

Question Number : 244 Question Id : 21280728749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Suppose the GDP at market price of a country in a particular year was ¥ 2,100 crores. Net Factor
Income from abroad was 7 200 crores, The value of Indirect Taxes net of subsidies was T 100 crores
and national income was T 1,900 crores. The aggregate value of depreciation in the economy will
be :

(1Y F100 crores
(2) F400 crores
(3) T 200 croros

(4) T30 crores

Options :

212807114993. 1
212807114994. 2
212807114995. 3
212807114996. 4

Question Number : 244 Question Id : 21280728749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1) 2100 F2
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Options :

212807114993. 1
212807114994. 2
212807114995. 3
212807114996. 4

Question Number : 245 Question Id : 21280728750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




Which of the tollowing are the examples of complementary goods ?

[A) pen andink

(B) tea and supar

(C)  tea and cotbfes

(D} ball pen and gel pen

(E} shoes and socks

Choose the correct answer from the options given below :

(1) (A) (C) and (D) only
(2) (A) (B), and (E) only
(3 (B) (C) and (D) only
(4) (C)and (E} only

Options :

212807114997. 1
212807114998.2
212807114999. 3
212807115000. 4

Question Number : 245 Question Id : 21280728750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807114997. 1
212807114998. 2
212807114999. 3
212807115000. 4

Question Number : 246 Question Id : 21280728751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:



Key

'Value

Comprehension

MCQ

Which of the following statements is true, if other things remaining the same, the exchange rate
changes from 15=1% 80 to 15=775

(A}  Import will fall

(B) Imports will rise

(C) Exptlrt:i will rise

(D} MNatonal income will rise

(E) MNatiomal income will fall

Choose the correct answer from the options given below :

(1) (E) (B) and (A) only
(2) (B) and (E) only

(3 (C) (D) and (E) only
(4)  (B), (E) and (D) only

Options :

212807115001. 1
212807115002. 2
212807115003. 3
212807115004 4

Question Number : 246 Question Id : 21280728751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) = (E), (B) 31 (A)
(2) =T (B) #W (E)

(3) %= (C), (D) 3 (E)
(4) = (B), (E) @7 (D)

Options :

212807115001. 1
212807115002. 2
212807115003. 3
212807115004 4

&collegedunia;

-



Question Number : 247 Question Id : 21280728752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Which of the following does not constitute the central problems of an economy 7

(1)  Whether to have more agricultural goods or to have more industrial products

(2}  Whether to use more labour or more machines
(3)  Whether to consume more of leisure or more of work related activity

(4)  Wheo gets how much of the goods that are produced in the economy ?

Options :

212807115005. 1
212807115006. 2
212807115007. 3
212807115008. 4

Question Number : 247 Question Id : 21280728752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807115005. 1
212807115006. 2
212807115007. 3
212807115008. 4

Question Number : 248 Question Id : 21280728753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Which of the following is true about Indian demography on the eve of independence 7

(A) Water and air-borne diseases were under control
(B) Infant mortality rate was 24 per thousand Live births only

(C)  Owerall literacy rate was less than 16 percent

[D]l Life expectancy was 44 years

Choose the correct answer from the options given below :

(1) (A) and (B) only
() (C) only

(3) (B) and (D) only
(4)  (C) and (D) only

Options :

212807115009. 1
212807115010. 2
212807115011. 3
212807115012. 4

Question Number : 248 Question Id : 21280728753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807115009. 1
212807115010. 2
212807115011.3
212807115012. 4

Question Number : 249 Question Id : 21280728754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Identity the capital account transaction from the following ;
(1)  Export of goods

(2)  Import of goods

(3)  MNet Invisibles

(4) External commercial borrowings

Options :

212807115013. 1
212807115014.2
212807115015. 3
212807115016. 4

Question Number : 249 Question Id : 21280728754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807115013. 1
212807115014. 2
212807115015. 3
212807115016. 4

Question Number : 250 Question Id : 21280728755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

“A theory of international exchange which holds that the price of similar goods in ditferent
countries is the same “ is the concept of

(1) Feal L‘Mlmugu rate
(2)  Present value
(3) Purchasing power parity

(4) MNominal exchange rake
Options :
212807115017. 1
212807115018. 2
212807115019. 3
212807115020. 4

Question Number : 250 Question Id : 21280728755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key Value

Comprehension MCQ
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Options :
212807115017. 1
212807115018. 2

212807115019. 3
212807115020. 4

Question Number : 251 Question Id : 21280728756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the correct facts related to development experience of Indhia, Pakistan and China,

(A} Retorms in China were introduced in 1978,

(By India adopted the mixed economy model tor development
(C) In 1965, the Great leap forward campaign was initiated
(D) China has announced its first five year plan in 1956

(E} Retorms were initiated in Pakistan in 1978

Choose the correct answer from the options given below :

(1) (A) (C) and ([3) only

(2) (A)and (B) only

(3 () and (DY) only

(4)  (C), (D), and (E) only

Options :

212807115021. 1
212807115022.2
212807115023. 3
212807115024. 4

Question Number : 251 Question Id : 21280728756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



WIE, TR &R = & S aqvEl F 530§ W 998 | =T S
(A) A H 79R 1978 7 a°9 fem e

(By wrad = Ta=rmg & fou fofsq srdegaen diza = 39
(C) ‘Tz oy wias" sfyam 1965 § uE fe

(D) =4 = 9o d=aeg 9 1956 5 9iftg famn wn

(B} wifeeam & HquW 1978 § w0 ey

=14 feu o fasedi § 9 Wl S99 3 944 A -

(1) e (A), (C) #i (D)

(2) =HEH (A) A (B)

(3) TS (C) ¥ (D)

(4) EE (C), (D) ¥R (E)

Options :

212807115021. 1
212807115022. 2
212807115023. 3
212807115024. 4

Question Number : 252 Question Id : 21280728757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Development that meets the need of the present generation without compromising the ability of
the future gemerabion to meet their own needs was emphasized by ¢

(1) United Nations Conference on Environment and Development (LINCED)

(2} Central Pollution Control Board (CPCE)

(3}  Ministry of Environment

(4) Herman Daly

Options :

212807115025. 1
212807115026. 2
212807115027. 3
212807115028. 4

Question Number : 252 Question Id : 21280728757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




" s o adaE i i AEERSe & oWiEt difeal i a1 g awa = gesita E
fam1 g0 &' ) Uae B H usga e e

(1) ga WL T s =W 6 (UNCED)

(2 F=r wEEm FEEm °rE (CPCR)

(3) T G

Options :

212807115025. 1

212807115026. 2

212807115027. 3
212807115028. 4

Question Number : 253 Question Id : 21280728758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

have emerged to fAll the gap in the formal credit system because the Formal credit delivery
mechanism has not only proven inadequate but has also not been fully integrated into the overall
rural social and community development.

(1) Commercial Banks

(2} Regional rural Banks

(3 5{-:]”11.']}1 BrOUps

(4) Land development banks

Options :

212807115029. 1
212807115030. 2
212807115031. 3
212807115032. 4

Question Number : 253 Question Id : 21280728758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

1 WEviE simenfis Ore sEen | w R ® % e g s e o
ST A thET SATEE i, "iew WH Qe 99 SieeiyE Ses § O aew weia wiihad 5
(1) @i

(2) & O
(3) Y HETE "R
(4) oW faFm 9=

Options :

212807115029. 1
212807115030. 2
212807115031. 3

collegedunia:




212807115032. 4

Question Number : 254 Question Id : 21280728759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A factory can increase its output by using a new type of machine. Adoption of this new technology
is called

(1Y  Privabhzaton
(2) Equity
(%) Moderization

(4} Liberalization

Options :

212807115033. 1
212807115034.2
212807115035.3
212807115036. 4

Question Number : 254 Question Id : 21280728759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
T TRl 379 TETE R T O WA W A Wl ¥ 2 At o WA e B
(1) i
(2]  HHT@
(3)  sngfasiET
(4) FERIR
Options :

212807115033. 1
212807115034.2
212807115035. 3
212807115036. 4

Question Number : 255 Question Id : 21280728760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

From the hollowing transactions which transaction will be recorded in the current account of the
balance of payments

(1)  Indian buys French car company
(2) Indian buys French made car from France
(3) Sale of shares of Indian company to French customers

(4) Purchase of shares of French company by Indian customers

collegedunia:




Options :

212807115037. 1
212807115038.2
212807115039. 3
212807115040. 4

Question Number : 255 Question Id : 21280728760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

F= 8 9 e &1 H 1 S W S pEE ¥ F e R 1§ e e smom 7
(1) WA B0 WE F FHE #0H &) S

(2)  urEr g wiE § B w0 R w9 wdiE

(3)  WRIH & TR Il WA U & HhEl ) faw

(4) AT T AR W 0 ST W o

Options :

212807115037. 1
212807115038. 2
212807115039. 3
212807115040. 4

Question Number : 256 Question Id : 21280728761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the tollowing function is not performed by the Central bank 7
(1) Issues currency

(2)  Controls money supply

(3) DMoney creation

(4) Bank to the government

Options :

212807115041. 1
212807115042. 2
212807115043. 3
212807115044. 4

Question Number : 256 Question Id : 21280728761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




Frer # ¥ =1 = dF gn v fem a2

(4)
Options :

EHEEIREL B
B R REREL

Hel ("R ) I

212807115041. 1
212807115042. 2
212807115043. 3
212807115044. 4

Question Number : 257 Question Id : 21280728762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following in their establishment from early to recent :

[A)
(B)
(C)
(D)

Choose the correct answer from the options given below :

(1)
{2)
[ 3)
(4)

Options :

Introduction of GST
World Trade Organisation was founded
Establishment of Planning Commission

First Phase of Green Eevolution

(A), (B), (C), (D)
(D). (C). (B). (A)
(C), (D), (B). (A)
(B). (A), (C). (D)

212807115045. 1
212807115046. 2
212807115047. 3
212807115048. 4

Question Number : 257 Question Id : 21280728762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



FrefafeEs O 4 weer @ o6 2 & §, T R ST saiegd i
(A) GST ¥ WEYH

(By fava =un g9aad & wgE

(C) T S F =

(D) EfE wifd = 9y =1

== e fasedl | | HE 39 1 T e

(1) (AL (B) (C). (D)

(2) (D0 (C). (B). (A)

(3) (), (D), (B), (A)

(4)  (B). (A), (C), (D)

Options :

212807115045. 1
212807115046. 2
212807115047. 3
212807115048. 4

Question Number : 258 Question Id : 21280728763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Exchange rate determined by the market torces of demand and supply 15 known as :
(1} Tixed exchange rate

(2)  Current exchange rate

(3} Constant exchange rate

(4) Floating exchange rate

Options :

212807115049. 1
212807115050. 2
212807115051. 3
212807115052. 4

Question Number : 258 Question Id : 21280728763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
fafom =, fommm fawio i ai gft =t aem wfe g FermEm 2
(1) Ter fafE =
(2) = fafmg 5
(3) =i fafm =1
(4) oot a0
Options :

collegedunia:




212807115049. 1
212807115050. 2
212807115051. 3
212807115052. 4

Question Number : 259 Question Id : 21280728764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which ot the tollowing is not true about currency notes and coins in circulabon in an economy 7
(1) They are legal tenders

(2)  They are called fiat money

(3) They have intrinsic value

(4) They do not have intrinsic value

Options :

212807115053. 1
212807115054.2
212807115055. 3
212807115056. 4

Question Number : 259 Question Id : 21280728764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ot s f e i S e s o s i e i o ot = &2

(1) A= wrp e 3 8

(2) ST = A E
(3) B S = AFE e B
(4) T Al = sl e o e

Options :

212807115053. 1
212807115054.2
212807115055. 3
212807115056. 4

Question Number : 260 Question Id : 21280728765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Earve committee was set up tor
(1} Heavy industries

(2)  Medium scale industries
(3}  Agriculture sector

(4) Small scale industries

collegedunia:




Options :

212807115057. 1
212807115058. 2
212807115059. 3
212807115060. 4

Question Number : 260 Question Id : 21280728765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

F9 (Karve) FH21 T 727 Fres o e m:

(1) 9w 3= & fem

(3 %Tfﬁl 9 & T
(4)y TR =g & o

Options :

212807115057. 1
212807115058. 2
212807115059. 3
212807115060. 4

2y  HEm I % = o+ fem

Question Number : 261 Question Id : 21280728766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Bank Fate is:

(11 The rate of interest at which EBI gives loans to industries

(2]  The rate at which RBI gives loans to the commercal banks

(3)  The rate of interest at which Agricultural Banks give loans to the farmers

(4) The rate of interest at which Co-operative banks give loans to the customers

Options :

212807115061. 1
212807115062. 2
212807115063. 3
212807115064. 4

Question Number : 261 Question Id : 21280728766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



qFEE:

(1) =9 = T8 77 RBI FW 1 =0 WeF & &

(2) = = Tag ur BBl =i S W vEE s

(3) =9 = fam = 9% e = vmE w1 E

(4) =7 o FAm 0T e S o WEE A WEE A §

Options :

212807115061. 1
212807115062. 2
212807115063. 3
212807115064 4

Question Number : 262 Question Id : 21280728767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The problem of choice arises from :
(1)  Abundance

(2) Scaraty

(3) Competing usages

(4) Economic activities

Options :

212807115065. 1
212807115066. 2
212807115067. 3
212807115068. 4

Question Number : 262 Question Id : 21280728767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T T e w9 e e R

(2) BEYm
(3) WiAEYES TE9m

(4) =T framd
Options :
212807115065. 1
212807115066. 2
212807115067 3
212807115068. 4

Question Number : 263 Question Id : 21280728768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:




Question Key Details :

Key Value
Comprehension MCQ

A change in investment inan economy by ¥ 2000 crores leads to an increase in its nabonal income
by T 8,000 crores. What will be the change in consumption ?

(1) % 6,400 crores
(2] ¥ 6,600 crores
(3) ¥ 6,000 crores

(4) T 6,200 crores

Options :

212807115069. 1
212807115070. 2
212807115071. 3
212807115072. 4

Question Number : 263 Question Id : 21280728768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

UE seferEr W ¥ 2,000 FE v w5t gfE O e e d v 8000 F0g ' # afy g6 & oedm o
gitas = Fifau ?
(1) ¥ 6,400 T2
(2) T 6,600 FE
(3) T 6,000 FE
(4) ¥ 6,200 =IZ

Options :

212807115069. 1
212807115070. 2
212807115071. 3
212807115072. 4

Question Number : 264 Question Id : 21280728769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Thas goal of Indian bve year plans has emphasized on women empowerment and equal opphunity
for women as for men in the society. Identify the Goal,

(1) Growth

(2)  Equity

(3)  Selt-Rehance

(4) Modemnization

Options :

212807115073. 1
212807115074.2
212807115075. 3

collegedunia:




212807115076. 4

Question Number : 264 Question Id : 21280728769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

YA 9ETUE 9 ® 30 T W Tean Ay 9y gfeer st @7 o § At & fEu
JFhl # HEF A9 WA T e v

(2) OHE
(% = fadm
(4) YRR

Options :

212807115073. 1
212807115074. 2
212807115075. 3
212807115076. 4

Question Number : 265 Question Id : 21280728770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

With an increase in marginal propensity to consume the value of investment multiplier will
(1) Increase

(2)  Decrease

(3  Remain unaffected

(4] Investment mulbplier has no relationship with marginal propensity o consume

Options :

212807115077. 1
212807115078.2
212807115079. 3
212807115080. 4

Question Number : 265 Question Id : 21280728770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
Hrgia 9 9afa | gig &9 W TEw T F OF T F wE TEm
(1) =
(2) AT

(3} ﬁuﬁm:‘ﬁ
(1) T apos = i e wata | S w9 e E
collegedunia:




Options :

212807115077. 1
212807115078. 2
212807115079. 3
212807115080. 4

Question Number : 266 Question Id : 21280728771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Select the correct sequence that lead to the need tor the introducion of New Economic policy 1991

in India :

[ A) Fun“iz.;n I.Jx-;.'lwnﬂl.: PESETYes Llnl}'l[.u.“d

(B)  World Bank gave loan to manage crisis

(C) New economic policy 1991 announced

(DY India met with an economic crisis related external debt
Choose the correct answer from the options given below :

(1) (A), (D). (B). (C)
(2) (D) (A) (B) (C)
(3) (A (B). (D) (C)
(4) {B). (A). (D). (C)

Options :

212807115081. 1
212807115082. 2
212807115083. 3
212807115084. 4

Question Number : 266 Question Id : 21280728771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

v H 1091 =1 72 i Hifs &1 5w =9 w5 aarEEa F A e w0 agm Fifem

(Ay Taeel fafmm = = e e

(By fawa = 3 3w fovia d== 3 wem

(C) 1991 =1 7% apfid=s ifa =1 S

(D) WA o = |10 % Hesl 0 i e F 2E
== femw mu foeredl § # Wl 39 =1 =9 it

(1) (A (D) (B) (C)
(2) (D). (A). (B). (C)
(3} (A) (B), (D}, (C)
(4)  (B). (A), (D), (C)

Options :

Qcollegeduniag

-



212807115081. 1
212807115082. 2
212807115083. 3
212807115084. 4

Question Number : 267 Question Id : 21280728772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

sum of MPC and MPS is equal to
(1y 1
(2) 0

[ 3} l
II-] o

Options :

212807115085. 1
212807115086. 2
212807115087. 3
212807115088. 4

Question Number : 267 Question Id : 21280728772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

MPC 3T MPS 1 #2901 36 &

I. .\:.I I

(Z) O

(3 =1

(4] o
Options :

212807115085. 1
212807115086. 2
212807115087. 3
212807115088. 4

Question Number : 268 Question Id : 21280728773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




suppose the price elasticity of demand tor a good s (=)L Ata price of T 4 per unit, demand for
the good is 40 units, Suppose the price of the good increases to T 6 per unit, and as a result, the
demand for the good will be ;

(1) 10 units
(2y 20 units
(3y 30 units
(4) 40 units

Options :

212807115089. 1
212807115090. 2
212807115091. 3
212807115092. 4

Question Number : 268 Question Id : 21280728773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

o witten el g o o o w1 BT i 4 S T A w40 TRl i S # ) aeg
1 | feral serEal § wo afe e W wied 99w 6 B9 WiE 3 8 S

(1) 10 Rt

(2) 20 EEET

(3) 30 g

(4) 40 gFEAT

Options :

212807115089. 1
212807115090. 2
212807115091. 3
212807115092. 4

Question Number : 269 Question Id : 21280728774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




In the given fipure what will happen to aggregate demand curve (AD) when autonomous
investment increases.

Y

AD

AD

X

o y National Income

(1)  AD curve shifts in parallel downwards
(2}  AD curve does not shift
(3) AD curve shifts in parallel upwards

(4} AD curve shifts not in parallel upwards
Options :
212807115093. 1
212807115094. 2
212807115095. 3
212807115096. 4

Question Number : 269 Question Id : 21280728774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




fr= fom o wgfes oin (AD) 9%+ 30 2 ot =rm Faw o iy 26 2

¥ AS

AD

AD

R

X

0 y National Income
(1)  AD =% d9iae 9§ = =i 37 fEasm
(2)  AD =% § #E fiaasm 7= 2m
(3)  AD 9% H9im FY H T H &0 fEmdm
(4)  AD o% ORI 9 Y T F 1 8 fageEm

Options :

212807115093. 1
212807115094. 2
212807115095. 3
212807115096. 4

Question Number : 270 Question Id : 21280728775 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A consumer wants to consume two goods X and Y. The price of the goods are € 2 per unit and
T 3 per unit respectively and his income is 730, What will be the slope of the budget line 7

(1) -—-05

(2) —0.4
(3) —2
(4y =2
Options :

212807115097. 1
212807115098. 2
212807115099. 3
212807115100. 4

Question Number : 270 Question Id : 21280728775 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




T SN 21 Fga X Y T IO O TR § a5 X Y i S wAe 2 59 AN 5 59 Wi
THEE T T0IEE A AT 20 B T S TE 2R A Em

(Iy =05
(2 —04
(3 =3
(4) =2
Options :

212807115097. 1
212807115098. 2
212807115099. 3
212807115100. 4

Question Number : 271 Question Id : 21280728776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II.
List - 1 List - 11
(A) High powered money (n Cash J:-Eesnlzwe-ﬁé.ﬁ;
(B) Central Bank (I} Fixed by the RBI
(C} Money multiplier (O} An apex bank of the country
(D} Cash Reserve Ralio {1V} Currency issued by central bank

Choose the correct answer from the options given below :
(1) (A}, (B)-{I1), {C)-(IV), (D)-(I)
(2) (A, (B)-(IID), (C)-(T), (D}{IV)
(3) (AL, (B)-(I), {C)-(TV), (DN-(1)
(4) (A)V). (B)-(III), (C)-(1), (L2)-(1I)

Options :

212807115101. 1
212807115102.2
212807115103. 3
212807115104. 4

Question Number : 271 Question Id : 21280728776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Qcollegeduniag

-



Tl H g1l 1 e =il
L1

(A) T Ve 7=

(By =195

(Ch)  HA T
(D) TFhe AiaE 3T

Options :

212807115101. 1
212807115102.2
212807115103. 3
212807115104. 4

(Th
(1T}

e BT ST

RBI % M Tawifa

(1) =9 % Far= 3

(IV) =M 9% 5F T2 IH &
Fra fon o farsedt F A W@ I W T wife

(1) (AT, (BY-(IID, {C)-(IV), (D)-(D)

(2) (I, (B)-(I11), {CO)-(1), (DHIV)

(3) (AL, (Bp-(LL). {C)-(IV), (D)-(I)

(4)  (AIV), (B)-(LLL), (C-(I), (D)(II)

Question Number : 272 Question Id : 21280728777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The ratio of total deposits that a commercial bank has to keep with BBl is called :

(1)  Cash Reserve Rabo

(2) Statutory liquiclity Ratio
(3) Deposit Ratio

(4) Margin Ratio

Options :

212807115105. 1
212807115106. 2
212807115107. 3
212807115108. 4

Question Number : 272 Question Id : 21280728777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Qcollegeduniag

-



= = o B AT T S v AT s A RBIE U TE A T
(1) 79a HARiEa AT
(2) AufTF T A9E

(3) THI A
(4)  HHiE A
Options :

212807115105. 1
212807115106. 2
212807115107. 3
212807115108. 4

Question Number : 273 Question Id : 21280728778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the correct pair of statements from given Column [ and column 11
Match Column - I with Column - [T

Colummn -1 Column - 11
(A) Human development {I} Treats human beings as means o increase productivity
(BY Human capital (IIy Educabion and health are integral to human well-being
(L} On the job training (III} Source of human capital
(D}  Thysical Capital (IV} Tangible and can be easily sold in the market

Choose the correct answer from the options given below :
(1) (A1), (B)(L), (O)-{I1D), (D}{IV)
(2) (A1), (B)-(1), (C)-{II), (DH{IV)
(3) (AL, (BHIV], (G, (DL
(4)  (ARIV), (B)-(LL), (T, (D)-(D)

Options :

212807115109. 1
212807115110. 2
212807115111. 3
212807115112. 4

Question Number : 273 Question Id : 21280728778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




Y | A1 =Y 11 F 9 =2 F 9 S

-1 - 11
(A) wHE fasE (1) T99 AFE o &1 Sewa 980 A 99 a6 @
(By WFE gt (L) T Feam = e 3 e Tt o6 2
(C) = 7T wimeqm (1) = gsit %1 &
(D) sitfas gt (V) FTFaF 37 aran 1 s & = 9 2 §

= fou o fameal § | ol =AY T i
(1) (AT, (BRI, (C-(IT), (DHIV)
(2)  (A)-) (B)-(). (C)-(10), (TH-(IV)
(3) (A, (BHIY), (C)-(1), (DN-(II)
(4)  (AIV), (B)-{), (C)-(11), (D)-(1)

Options :

212807115109. 1
212807115110. 2
212807115111. 3
212807115112. 4

Question Number : 274 Question Id : 21280728779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Chronologically arrange the development path of china.
(A) Great Proletarian Cultural Revolubion

(B) Establishment of People’s Republic of China

(C)  Introduction of reforms

(D} Arnnouncement of First Five Year Plan

(E} Great Leap Forward campaign

Choose the correct answer from the options given below
(1) (B) (E} (). (D) (A)

(2) (B (A {€) (D), (E)

(3) (B (€ (D), (A) (E)

(4) (B} (D). (E) (A). ()

Options :

212807115113. 1
212807115114. 2
212807115115.3
212807115116. 4

Question Number : 274 Question Id : 21280728779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

IKey Value
collegedunia:

-




|Comprehension [MCQ
== =i fawg am = fafaEn safem w6
(A) TR TEEE ik Fw
(By =i TR & ST

(C) T =1 = e

(D) VYW YU G i Sy
(Ey 12 i FiREE siEm

(1) (B) (E} (C) (I, (A)

(2) (B) (A (C) (D), (E)

(3} (B) (C). (D) (A) (E)

(4} (B). (D). (E), (&), (C)

Options :

212807115113. 1
212807115114.2
212807115115.3
212807115116. 4

Question Number : 275 Question Id : 21280728780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - T with List - 11.
List - 1 List - 11
(A) Tea and Coffee () Complementary goods
(B} Car and Fuel (I} Infenor goods
(C} Low E:I.'udn’." cereal Food ({1} Substtute Euw.lz—'.
(D} Good guality wheat (IV) Normal good

Choose the correct answer from the options given below

(1) (AHD, BHI), (-, (DF(IV)
(2) (A, (B)-(T), (C)-(11), (DH(IV)
(3) (A (B)-(II, {CHIV), (D))
() (ARIV), (B)-(III), (C)-(I1). (D))
Options :

212807115117.1
212807115118.2
212807115119. 3
212807115120. 4

Question Number : 275 Question Id : 21280728780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
collegedunia:

-



Key Value
Comprehension MCQ

el 9 gei-1l &= faan Fifam;
LA -1

(A) = R FE () P =750
(B) W 3T I (I} afem T
(C) =1 W w7 (1) Wiereemy e
(D) == wiEg g (IV) | 55

=1 feur e fereperl 31 & HEH WL 1 = wia
(1) (A, (BRI, (CHIT), (D-(1IV)
(2)  (A)-(ID), (B)-(1), (C)-(10), (TN-(IV)
(3) (AR} B {CHIV) (DI
(4)  (ARIY), (B)-(ILD), (T3, (D)-0)

Options :

212807115117. 1
212807115118.2
212807115119. 3
212807115120. 4

Sub-Section Number : 2
Sub-Section Id : 2128072098
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 276 Question Id : 21280728781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Based on tollowing paragraph answer the question :
Goods and service tax is the single comprehensive indirect tax implemented on July
2007, It is a destination based tax that has Input Tax Credit in the supply chain. G5T is
applicable throughout the country.

GST is considered the biggest tax reform since mdependence. It s implemented through
101" Constitutional Amendment Act,

The aim of GST is to reduce the cost of business operations and cascading effect of various
baxes. B\- 1mp|£'menhng GET it is ExXpec ted that GDP will rise l!'.. about 2% CL‘:mp]umu will also
be easier as all ax payment related services are available onling through a common portal. G5T
has LxFldTH.iE'vlJ. the tax base and introduced ]31}_.,hur transparency in the taxabon sysbem.

GST is destination based tax because -
Tax caleulated at fnal L""["I-l'l'_'i-'l.ll"l.‘IFtiUI't

) It has input tax credit system

Fu

Lid

(1)
(
(<

y It is levied on final consumer

(4) It is having more transparency
Qcollegedunias

-



Options :

212807115121. 1
212807115122. 2
212807115123. 3
212807115124. 4

Question Number : 276 Question Id : 21280728781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Wy T T e S & e o it
A T WA T ST AW i E T 1 e, 2017 Fi 9] T | 9E O e i
71 & T ofd e O 2 99 (Input Credit) &0 %1 GST 71 390 1 &0 &@ &1
AN A HEd g9 YR GST #1 30 101 F dfaus e sifufem & aea @) fEa
GST %1 3279 S9N HAEH &1 @0 S FH! (cascading) T9E F F0 F01 & | GST & @] 89 W
GDP # 2% =1 gfa wenfga # 1 8 &0 s sl F W e WA S wR SeE SUeE |
T e AT R T wE | GST % 5 SR wiEmat | fam gen § o w5 e |§ 3=
wirg ol st & g

GST T3 sl o7 ¥ i

(1) =T = Torn st Sosie o w5
(2) 39§ VA T W W §

(3) =% A= I W T e

(4) I 7R e &

Options :

212807115121. 1
212807115122.2
212807115123.3
212807115124. 4

Question Number : 277 Question Id : 21280728782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

&collegedunia;

-



Based on tollowing paragraph answer the question :

Goods and service tax is the single comprehensive indirect tax implemented on July
I, 2017, It is a destinabion based tax that has Input Tax Credit in the supply chain. GST is
applicable throughout the country,

GST 15 considered the biggest tax reform since independence. It is implemented through
101" Constitutional Amendment Act.

The aim of G5T is to reduce the cost of business operations and cascading effect of various
taxes. By implementing GST it is expected that GDP will rise by about 2%. Compliance will also
be easier as all tax payment related services are available online through a common portal. GST
has expanded the tax base and introduced higher ransparency in the taxation system.

By which corstitubional Amendment G5T was introduced :

(1) 105
(2) 101
(3) 104
(4) 102
Options :

212807115125. 1
212807115126. 2
212807115127. 3
212807115128. 4

Question Number : 277 Question Id : 21280728782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

TS T T (A A= & WY W e

T T HE T S0 A TR 1 e, 2007 ) T | e O s s
w1 & Fod o g § o 9 (lnput Credit) 860 81 GST T 39 ¥ =0 81 81
T F TR TEE 99 W YR GST ¥ 3 101 3 Hfeum w@eiem sifufem % we e o
GST T 2273 AN H=e 1 #1031 ST (cascading) WHTE & &0 5001 & 1 GST % &0 29 W
GDP H 2% 71 gfg wrniem & 1 91 &1 Yy 49 & |99F 2R W EH & SR ARGS9 |
TS AT AT a e A e 51 | | GST % 510 F0ew whwars | foram 5o § i 2 yonedt W 3=
T aEfEE AR g R

fore HiEHT WY % R GST =0 & 774

(1) 105
(2) 101
(3) 104
(4) 102

Options :

212807115125. 1

212807115126.2
collegedunia:
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212807115127. 3
212807115128. 4

Question Number : 278 Question Id : 21280728783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Based on tollowing paragraph answer the question :

Goods and service tax is the single comprehensive indirect tax implemented on July
L, 2007, It is a destination based tax that has Input Tax Credit in the supply chain. G5T is
applicable throughout the country,

GST 18 considerad the bigpest tax reform since mdependence. It s implemented through

101" Constitutional Amendment Act.

The aim of GST is to reduce the cost of business operations and cascading effect of various
taxes. By implementing GST it is expected that GDP will rise by about 2%, Compliance will also
be easier as all tax payment related services are available online through a common portal. G5T
has t:xpam.i&d the tax base and introduced ]Iii;llkfr bransparency in the taxation system.

By implementing GST what expectation was made for GDP |

(1) It will remain constant
(2} It will increase by 10%
(3) It will fall by 2%

(4) It will increase by 2%

Options :

212807115129. 1
212807115130.2
212807115131. 3
212807115132. 4

Question Number : 278 Question Id : 21280728783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

collegedunia:



WA I A A o AR o i
A T A Uk S AW e ¥ TR 1 s, 2007 # an) e mn | e wsk v i
w1 ¢ Fod o e § =0/ 9 (Input Credit) B/ §1 GST T S0 E &0 8@ £1
T & TN 99 99 99 9UE GST #1390 101 § wfaus e sfufem & ma @
GST ¥ 3294 =AW WA F1 A0 27 WA (cascading) W9 1 F9 #3711 8 | G5T % @0 31 W
GDP % 2% =i 9f wenfum # ot S0 spam Sl F w5 I0a WA % R ST ST o

o TR AT e T R S wE | GST % 51 SR wiwma | faan gen € i w5 v § 3
T et = s fgm

GST P & T GDF & =% H &1 SH o, o, ;
(1) == fem @

(2)  T® 10% 3 =g

(3) TE2% WFH A =m

(4)  T® 2% W =g T

Options :

212807115129. 1
212807115130.2
212807115131. 3
212807115132. 4

Question Number : 279 Question Id : 21280728784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Based on following paragraph answer the question :

Goods and service tax is the single comprehensive indirect tax implemented on July
1, 2007, It 15 a destination based tax that has Input Tax Credit in the supply chain. G5T is
applicable throughout the country,

GST is considered the biggest tax reform since mdependence, It s implemented through
101" Constitutional Amendment Act,

The aim of GST is to reduce the cost of business operations and cascading effect of various
baxes. B1.-' 1mp||’-.'menhng GET it is expec ted that GDP will rise l':l.. abouk 2%. CL}TI.'I.F]J::J.I'ILL will also
be easier as all ax payment related services are available onling through a common portal, GST
has expanded the tax base and introduced higher transparency in the taxation system.

How GST will made compliance easier ?

(1} By imposing more axes

(2) By liberating tax rates

(3) Tax pavment related services are avaliable online
(4) Bw putting multi level taxes

SRTISI3 :
collegedunia:

-



212807115134. 2
212807115135.3
212807115136. 4

Question Number : 279 Question Id : 21280728784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

W9 &1 I (1 w0E o WU O 2
A A WA W U ST Ao e E T 1 e, 2007 = wr) T wn | 9E v e s
w1 & Fod 9 e J =/ 9 (Input Credit) 870 81 GST T 59 % &1 8@ §1
AW F TTEN 99 9% W 9YE GST ¥ 39 101 § dfaum gvem sfufem & Tea @ o
GST %1 3279 S9N HAEH &1 @0 A7 WA (cascading) TIE F F0 1 & | GST & &0 89 W
GDP ¥ 2% =1 3fz wenfys #1151 e ST 5 T TR W A F 0 STanT S0 H
T TR, AT Ts TR S W | GST 3 20 SR WiEane § T g5 § S e | e
i R = AR A gE

GST a7 g w3 o= wiwast = @ an Tm man #7

(1) 8 T 51 7

(2) T H T F TR T

(3) oL SPTEE HaS BnE F AR S0 O

(4) fafvy= vom & =40 =1 wE

Options :

212807115133. 1
212807115134.2
212807115135. 3
212807115136. 4

Question Number : 280 Question Id : 21280728785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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Based on tollowing paragraph answer the question :

Goods and service tax is the single comprehensive indirect tax implemented on July

2007, It 15 a destination based tax that has Input Tax Credit in the supply chain. G5ST is

applicable throughout the country,

GST 18 considered the biggest tax reform since mdependence, It s implemented through
101" Constitutional Amendment Act,

The aim of GST is to reduce the cost of business operations and cascading effect of various
baes, H1.- 1mp|£mentmg GST it is Expec ted that GDP will rise l':".. abouk 2%, CL!I]TLF]L:H'ILL will also

be easier as all ax payment related services are available onling through a common portal. G5T
has L}c;p..lm.ied the tax base and introduced in&her bransparency in the taxabion sy sbem.

Which of the following taxes has been subsumed in GST ?
(1) Income tax

(2) Sales tax

(3) Corporate tax

(4) TProperty tax

Options :

212807115137. 1
212807115138. 2
212807115139. 3
212807115140. 4

Question Number : 280 Question Id : 21280728785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

WY 1 T TS A & YN O A
T T HE U STE A0 T 1 e, 2007 = A T mn | gw v s s
71 & Fod ofd e o 2 99 (Input Credit) &7 %1 GST 72 590§ &0 &1@ &1
T & TN g9 a9 o9 gUE GST #1391 101 § dfaus deim sfufem & sea e
GST 1 3279 =191 WA H1 #0T 37 BT (cascading) FWE B F0 #3701 § | GST & @0 84 W
GDP 1 2% = 9fz wenfea %1 it @0 sprom Fenedl & wum 92a WA 5 s siTe seemE |

TP TR, AT o et T, 31 Wah] | GST % 510 e wiwanei o fawsam gen & oi e s | 3=
wE Tt s R g

s 9= % o F1 GST  wifas T &7

(1) 33+
(2) Ta& ==
(3) fFm =
(4) HEW

DR IS130 1 .
collegedunia:
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212807115138.2
212807115139. 3
212807115140. 4

Sub-Section Number : 3
Sub-Section Id : 2128072099
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 281 Question Id : 21280728786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Based on following case study answer the gquestion :

Wages and salaries in cash £ 2000/ -
Mixed Income of self employved T 3,500/ -
Eent T 4.000/-
Corporate Profit Tax T 2.000/-
Dividend 1,000/ -
Emplovees contribution o provident fund <200/ -

Wages amd salaries in kind T 2.000/-
Emplover's contribution to social security schemes 7 3,000/ -
Corporate savings T 1,500/ -
Met factor income from Aboard (=T 200

What will be compensation of employees ?

(1)  Wages and salaries in cash + Rent + Dividend

(2)  Wages and salaries in cash + Wages and salaries in kind

Fruvidl.-'nt fumd

+ Employees contribubion to

(3 "r"lrrug:-:':-i and salaries in cash + 't"r'ngu-ﬁ- and salaries in kind + Emplover's contribubion to

social security schemes
(4) Mixed Income + Rent + Corporate Profit tax

Options :

212807115141. 1
212807115142. 2
212807115143.3
212807115144. 4

Question Number : 281 Question Id : 21280728786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

collegedunia:




Wy & I T S=E W ST O S

TS WAl HIL A
e =i o e

famm

fmfamAT w v #

T

Haes e ¥ HHEET # e
[ & =9 | Heigd] vy =0

w9 ° wifEs & drEm

F = L ]
faawil 4 718 99 =19

T F1 MR gfas =3 dm ?

(1) =175 H i wE A+ e 4 e

7 5,000/ -
3,500/ -
74.000/-
7 2,000/ -
7 1,000/ -
T 500/-

¥ 2,000/ -
% 3,000/ -
¥1,500/-
(=) 200

(2) & § gegi uaq 999 + R B o wegll vAd g9 + Sl #1 Wiz | 9eH
(3 TR H oeed TR I 4+ F F e d gest = 9+ Sias g 99 | miesl F5 AR

(4y Tafas s + = + i o =

Options :

212807115141. 1
212807115142.2
212807115143. 3
212807115144. 4

Question Number : 282 Question Id : 21280728787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

&collegedunias
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Based on following case study answer the question :

Wapes and salaries in cash < 2,000/ -
Mixed Income of selt employed T 3,500/ -
Fent 7 4,000/ -
Corporate Profit Tax T 2.000/-
Dividend F 1,000/ -
Employees contribution to provident tund T 500/ -

Wages and salaries in kind T 2,000/-
Emp]u_\-'l:-*r’ﬁ contribution to social security schemes ¥ 3,000/-
Corporate savings 7 1.500/-
Met factor income from Aboard (— )% 200

Thse components of UF‘IZf]’i.lt'i.I‘tH Surpluﬁ :

(1)
(<)
(3)
(4)

Options :

Rent + Dividend + Corporate savings

Mixed Income + Dividend + Rent

Rent + Dividend + Corporate savings +Corporate profit Tax
Rent + Dividend + Corporate profit tax

212807115145. 1
212807115146.2
212807115147. 3
212807115148. 4

Question Number : 282 Question Id : 21280728787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension Comp2

collegedunia:



e = T e s & T oy gt

TR HEAl =

faramm

femfia s =y #1

T

Tifase e § T = siEn
[ & =9 § Hugd] vad 5me

wET A Ji A= ° ofaw ) aeEE
faswl 4 I T 9

(1) T + s + Fmifee ==
(2y  fofgq sma -+ =myiw + fso

7 5,000/ -
T 3,000/ -
7 4,000/ -
z 2,000/ -
7 1,000/ -
z 500, -

72,000/ -
% 3,000/ -
¥ 1,500/ -
(—)% 200

(3) T+ wmsi + Ffea = + Fifea = e

(4) T o =i+ T e &1

Options :

212807115145. 1
212807115146.2
212807115147. 3
212807115148. 4

Question Number : 283 Question Id : 21280728788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

&collegedunias

-



Based on following case study answer the question :

Wapes and salaries in cash

Mixed Income of selt employed

Eent

Corporate Profit Tax

Dividend

Employees contribution to provident fund

Wages and salaries in kind

Employer's contribution to social security schemes
Corporate savings

Met factor moome from Aboard

The components of |:lmﬁt are -
(1) DMixed income + Rent + Corporate saving

(2) Dividend + Corporate saving + Rent

% 5,000/ -
£ 3,500/ -
T 4000 /-
7 2,000/ -
% 1,000/-
F 500/-

€ 2,000/ -
% 3,000/-
% 1,500/ -
(=% 200

(3 Dividend + Corporate saving + Corporate profit B

(4)  Dividend + Corporate saving + Mixed income

Options :

212807115149. 1
212807115150. 2
212807115151. 3
212807115152. 4

Question Number : 283 Question Id : 21280728788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

collegedunia:



e = T e s & T oy gt

TR HEAl =

faarm

Frftrm st = &
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W FAEF T

(1) Tafim == + feom + P ==
(2) =g + Pl "= + e

(3) =i+ e == 4+ i e =

(4) =i+ Pl == 4 s o

Options :

212807115149. 1
212807115150.2
212807115151. 3
212807115152. 4

7 5,000/ -
T 3,500/ -
7 4,000/ -
T 2,000/ -
7 1,000/ -
T 500, -

72,000/ -
% 3,000/ -
71,500/ -
(— )% 200

Question Number : 284 Question Id : 21280728789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

&collegedunias

-



Based on following case study answer the question :

Wapes and salaries in cash

Mixed Income of selt employed

Eent

Corporate Profit Tax

Dividend

Employees contribution to provident fund

Wages and salaries in kind

Employer's contribution to social security schemes
Corporate savings

Met factor moome from Aboard

Calculate the value of Domestic Income :
(1) <18500/-
(2) T22000/-
(3) 22500/-
(4) F2L800/-

Options :

212807115153 1
212807115154.2
212807115155. 3
212807115156. 4

% 5,000/ -
3000/
T 4.000 /-
7 2,000/ -
% 1,000/ -
F 500/-

2,000 /-
% 3,000/-
% 1,500/ -
(=% 200

Question Number : 284 Question Id : 21280728789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

collegedunia:



e = T e s & T oy gt

TR HEAl =

waffaal & fafem s

fearm

T T
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Wiz e 1 weaiE = simEn

o &F =9 1 wagd] vaH 394
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(1) #18,500/-
(2) % 22,000/-
(3) T22500/-
(4) 2 21,800/-

Options :

212807115153 1
212807115154.2
212807115155.3
212807115156. 4

Question Number : 285 Question Id : 21280728790 Question Type : MCQ Option Shuffling
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

T 5,000/ -
T 3,500/ -
74,000 -
T 2,000/ -
T 1,000/ -
T 500/-
2,000/ -
T 3,000/ -
% 1,500/ -
(=¥ 200

: No Is Question Mandatory : No Calculator : None

Question Key Details :
Key Value
Comprehension Comp2

&collegedunias

-



Based on following case study answer the question :

Wapes and salaries in cash

Mixed Income of selt employed

Eent

Corporate Profit Tax

Dividend

Employees contribution to provident fund

Wages and salaries in kind

Employer's contribution to social security schemes
Corporate savings

Met factor moome from Aboard

Calculate the value of National Income ;
(1) 18,300
(2) 22,000
(3) T 22,200
(4) & 21,800

Options :

212807115157 1
212807115158.2
212807115159. 3
212807115160. 4

¥ 5,000/ -
3000/
T 4.000 /-
7 2,000/ -
% 1,000/-
F 500/-

2,000 /-
% 3,000/-
% 1,500/ -
(=% 200

Question Number : 285 Question Id : 21280728790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

collegedunia:



WY = T e s & AT oy difen

TR HEAl =
it & aiem 5

Fearn

P T

G

HifaEz 2 § s = sivEr
[ & =0 1 HEgd] UE 994

AT I Fr=rn ° A=l 1 9reE
BUIEGE i

faamii B g TwE o

T T 6 i
(1) F 18,500
(2y F 22,000
(3) T 22200
(4) T 21,800

Options :

212807115157. 1
212807115158. 2
212807115159. 3
212807115160. 4

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

T 5,000/ -
T 3,500/ -
74,000 -
T 2,000/ -
T 1,000/ -
T 500/-

T 2,000/ -
7 3,000/ -
€ 1,500/ -
(=)% 200

History
6
212807627
45
45
No
No
0
200
No
Cant View
No

History
212807733
1
Online
Mandatory
50
40
200
Yes
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